Date: 10/02/18

Sales Order

KECH-FM, KSKI-FM, KYZK-FM COMMUNICATIONS ET AL Stations: Agency: Contract Name: DAVIS FOR HOUSE 2018-01 PO BOX 1372 Address: **BOISE** 869010003 State: ID Zip: 83701 Contract#: City: 11/06/18 10/09/18 Kelly Amos Start Date: End Date: Buyer: Type: Cash (None) Revenue Type: Regional Agency Tax Schedule: MUFFY DAVIS FOR HOUSE Agency Commission %: 15 Advertiser: Standard Address: Billing Cycle: 1859clan State: Comm %: City: Salesperson: Makegood Policy: Within Contract Dates Product Name: STRONGER IDAHO PAL Competitive Code: Political State

KECH-FM

No	DATES		Alt	TIMES		LEN	DISTRIBUTION									RATE	TOTALS		PTY
140	START	END	wks	START	END	CEN	М	Т	W	T	F	SA	SU	Per Wk	D/W	NATE	SPOTS	\$\$	FII
1	10/09/18	10/16/18		6:00 AM	7:00 PM	30		4	4	4	4	4		20	D	11.75	24	282.00	3
2	10/17/18	10/23/18		6:00 AM	7:00 PM	30	5	5	5	5	5	5		30	D	11.75	30	352.50	3
3	10/24/18	10/30/18		6:00 AM	7:00 PM	30	6	6	6	6	6	6		36	D	11.75	36	423,00	3
4	10/31/18	11/06/18		6:00 AM	7:00 PM	30	9	9	9	9	9	9	9	63	Ð	11.75	63	740.25	3

TOTAL GROSS \$1,797.75, NET \$1,528.09

KSKI-FM

No			Alt	TIM	IES	LEN				ÐI	STRI	BUT	ON			RATE	TOTALS		PTY
NO	START	END	wks	START	END	LEIV	М	Т	W	T	F	ŞA	SU	Per Wk	D/W	MIE	SPOTS	\$\$	FII
1	10/09/18	10/16/18		6:00 AM	7:00 PM	30		4	4	4	4	4		20	D	11.75	24	282.00	3
2	10/17/18	10/23/18		6:00 AM	7:00 PM	30	5	5	5	5	5	5		30	D	11.75	30	352.50	3
3	10/24/18	10/30/18		6:00 AM	7:00 PM	30	6	6	6	6	6	6		36	D	11.75	36	423.00	3
4	10/31/18	11/06/18		6:00 AM	7:00 PM	30	9	9	9	9	9	9	9	63	D	11.75	63	740.25	3

TOTAL GROSS \$1,797.75, NET \$1,528.09

KYZK-FM

N		DATES		Alt	TIN	IES	LEN		DISTRIBUTION								RATE	TOTALS		DTV
IN	٦٢	START	END	wks	START	END	LEIA	М	Т	W	Т	F	SA	SU	Per Wk	D/W	MIL	SPOTS	\$\$	
	ıŢ	10/31/18	11/06/18		6:00 AM	7:00 PM	30	6	6	6	6	6	6	6	42	D	11.75	42	493.50	3

TOTAL GROSS \$493.50, NET \$419.48

Billing Projections: By Month

Oct 18 Nov 18
CA 2,397.00 1,692.00
ST 1,833.00 2,256.00

Date: 10/02/18

V Print Spot Prices	TOTAL	SPOTS	348
	GROSS	S TOTAL \$	4,089.00
	ADJUS	TED SPOT	348
	ADJUS	TED TOTAL	\$ 4,089.00
	APPRO	VE DECL	NE
		\circ	General Manager
	\circ	\circ	Sales Manager
		\circ	National Sales Manager
			Local Sales Manager

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box) ☐ FEDERAL CANDIDATE

STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and Location:
KECH/KSKI/KYZK, Sun Welley, ID Date: 9/27/18
1. Caitlin Litser
being/on behalf of: Muffy Doulis
a legally qualified candidate of the Democrat
political party for the office of: House Seat A, Dist. 26
in the <u>Gengral</u>
election to be held on: NOV), 6,2018
do hereby request station time as follows:

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
%30	M.SU 6A-7p	M-Su	NON- Pre- Enptible	780 72	week 3 Week 3 Week 4

Attach proposed schedule with charges (if available):

by:	tiof the above described broadcast ti	me has been furnished
STRONGER 1D	Atto PAC.	a a
represent mat this betsou of	nnounce the time as paid for by such rentity is either a legally qualified can dization of the legally qualified candida	didate or an
The name of the treasurer o	f the candidate's authorized committee	ee is:
	STEVL	
This station has disclosed to classes and rates; and discoto federal candidates).	me its political advertising policies, in punt, promotional and other sales pra	ncluding: applicable ctices (not applicable
DASIS OF RACE OR E	T DISCRIMINATE OR PERMIT DISC ETHNICITY IN THE PLACEMENT OF	F ADVERTISING.
To Be Signed	By Candidate or Authorized C	ommittee
9/26/18	Caixli & Kiste	
Date	Signature	
To Be	Signed By Station Representative	.
☐ Accepted	☐ Accepted in Part	☐ Rejected
Cla	Charissa Lana	A. M
Signature	Printed Name	Title 9

Date Range: from 10/02/18 to 10/02/18

Transaction Report - Political Payment

Date: Oct 2, 2018 02:45:06 PM MDT Page 1 of 2

Stations: KSKI-FM; KYZK-FM; KECH-FM

Station	Advertiser	Transaction Date	Net Amount	Check No	Transaction No	Contract No
KECH-FM	MUFFY DAVIS FOR HOUSE	10/02/2018	(\$1,528.09)	cc	PA-218109585	869010003
KSKI-FM	MUFFY DAVIS FOR HOUSE	10/02/2018	(\$1,528.09)	ec	PA-218109585	869010003
KYZK-FM	MUFFY DAVIS FOR HOUSE	10/02/2018	(\$419.48)	cc	PA-218109585	869010003
Grand Total	The state of the s		(\$3,475.66)			